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Note : This paper is of sixty (60) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= lkB ¼60½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of fifteen (15) marks each. Learners are 

required to answer two (02) questions only. 

uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, iUnzg ¼15½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 
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1. What are the objectives of fiscal policy ? How can 

government‟s fiscal policies to be used to offset 

fluctuations in the levels of income in a country ? 

jktdks”kh; uhfr ds D;k mís’; gksrs gSa \ fdlh ns’k dh vk; 

Lrj esa gksus okys mrkj&p<ko dh HkjikbZ djus ds fy, 

ljdkj }kjk cukbZ xbZ jktdks”kh; uhfr;k¡ fdl izdkj 

bLrseky dh tk ldrh gSa \ 

2. Explain the role of banks in an economy. Elaborate the 

process of Credit Creation by Bank. 

fdlh vFkZO;oLFkk esa cSadksa dh Hkwfedk ij O;k[;k dhft,A 

cSadksa }kjk _.k fuekZ.k dh izfØ;k ij izdk’k Mkfy,A 

3. What is the determinant of the investment and 

government expenditure multiplier ? Show the 

relationship between multiplier and marginal 

propensity to consume. 

fuos’k vkSj ljdkjh [kpZ xq.kd ds fu/kkZjd D;k gksrs gSa \ 

xq.kd vkSj miHkksx djus dh lhekar izo`fŸk ds chp lEcU/k 

dks mYyf[kr dhft,A 

4. What are the open market operations ? How do these 

work to affect the money supply ? Why is this measure 

considered to be more effective than the other 

measures of monetary control ? 

[kqyk cktkj ifjpkyu D;k gksrk gS \ iSls dh vkiwfrZ dks 

izHkkfor djus ds fy, ;g fdl izdkj dke djrs gSa \ 

ekSfnzd fu;U=.k ds vU; mik;ksa dh rqyuk esa bls vf/kd 

izHkkoh D;ksa ekuk tkrk gS \ 
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Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of five (05) marks each. Learners are 

required to answer four (04) questions only. 

Answer of these questions must be restricted to two 

hundred fifty (250) words approximately. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, ik¡p ¼05½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA izR;sd iz’u dk mŸkj vf/kdre nks lkS ipkl ¼250½ 

‘kCnksa esa nhft,A 

Briefly discuss any four (04) of the following : 

fuEufyf[kr esa ls fdUgha pkj ij la{ksi esa ppkZ dhft, % 

1. Consumption function. 

[kir QyuA 

2. Main determinants of the consumption expenditure. 

miHkksx O;; ds eq[; fu/kkZjdA 

3. Monetary Policy. 

eqnzk uhfrA 

4. National Income. 

jk”Vªh; vk;A 

5. Types of taxation system. 

djk/kku iz.kkyh ds izdkjA 
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6. Keynesian theory of employment. 

dhUl dk jkstxkjijd fl)kUrA 

7. M1, M2, M3 and M4. 

M1, M2, M3 ,oa M4 

8. Cash Reserve Ratio. 

udn vkjf{kr vuqikrA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy,  ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Write True/False against the following : 

fuEufyf[kr ds lkeus lR;@vlR; fyf[k, % 

1. Credit card is an example of Paper Money. 

ØsfMV dkMZ dkxth eqnzk dk ,d mnkgj.k gSA 

2. Revenue Expenditure = Revenue Deficit + Revenue 

Receipts. 

jktLo O;; = jktLo ?kkVs + jktLo izkfIr;k¡ 

3. Formulae for income determination in a 4-Sector 

Model is : Y = C + I + G + NX. 

,d 4&{ks=h; izfreku esa vk; fu/kkZj.k ds fy, iz;ksx esa vkus 

okys lw= „Y = C + I + G + NX‟ gSA 
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4. The famous book “The General Theory of 

Employment, Interest and Money” was written by 

Adam Smith.  

izfl) iqLrd ßn tujy F;ksjh vkWQ ,EIykW;esaV] baVsjsLV ,aM 

euhÞ] ,Me fLeFk ds }kjk fy[kh xbZ FkhA 

5. J M Keynes is known as father of Economics. 

ts ,e~ dhUl dks vFkZ’kkL= dk mRifŸkdŸkkZ ekuk tkrk gSA 

6. A country has a trade deficit when its exports exceed 

imports. 

tc ,d ns’k ds fu;kZr mlds vk;kr ls vf/kd gksrs gSa rks 

mls O;kikj ?kkVk dgrs gSaA 

Fill in the blanks : 

fjDr LFkkuksa dh iwfrZ dhft, % 

7. A budget in which total expenditure of the government 

is less than its total revenue receipts is called 

................. 

og ctV ftlesa dh dqy ljdkjh O;; dqy jktLo izkfIr;ksa 

dh rqyuk esa de gksrs gSa og 
-------------------------------

 dgykrk gSA 

8. The Central Bank of India is .................... 

Hkkjr dk dsUnzh; cSad 
-------------------------------

 gSA 

9. IMF stands for ................. 

IMF dks iw.kZ :i esa 
-------------------------------

 dgrs gSaA 

10. GNP stands for ................. 

GNP dks iw.kZ :i esa 
-------------------------------

 dgrs gSaA 
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